Liquifle

www.liquiflo.com

SERIES GROUP CONFIGURATION
Centrifugal Pump

ENDURA | Close-Coupled Version
Mag. Drive (Old)

@

() () 27) (36) (20) (38

1—&

N

%

i

N
R

|

%7

POP peoos

28

‘ \‘l\\\\7&

N\’Q

DWG. NO. E5473CC REV. B

L

%

\Di

1

24

14

PARTS LIST
TTEN [REGD ESCRIPTION
[ CASING 3 x 2 x 8, 1504 RF_SERRATED
o |y [CASDG 43 x 8, 150k RF SERRATED
[CASING 3 x 2 x 10, 1508 RE_SERRATED
CASING 4 x 3 x 10, 1508 RF_SERRATED
[IWPELLER 3 x 2 x 8 (CLOSED
» | | [IPELER 4x3 8 COSD)
[IHPELLER 3 x 2 x 10 (CLOSED)
WPELLER 4 x 3 x 10 (CLUSED)
[CASING COVER 3 x 2 x 8
5 | | [CASNGCIVER 4x3x8
[ CASING COVER 3 x 2 x 10
CASING CIVER 4 x 3 x 10
7 TRAIN PLUG, /2 NPT
5 |8_[5/B-11 x 1-1/4 SHCS (BLT, CASING 89
12 [ 5/8-11 x L SHCS CBOLT, CASING 107
8 WASHER, THPELLER
» 1/2-13 x 1-1/4 HHCS (BOLT, SHAFT)
BEARING HOUSING
SHAFT
2 WASHER, INNER WAGNET
3 HILDER, BEARING THRUST (HAGNET END)
4 | 2 [ PIN, BEARING THRUST
15 | 2 | BEARING, THRUST
16 | 1 | WASHER, BEARING THRUST (MAGNET END)
17 | 2 | BEARING, STATIONARY
16 | 2 | BEARING, ROTATING
19 | 2 | TOLERANCE RING, BEARING HOUSING
20 | o | TOLERANCE RING, SHAFT
21 | 4 |PIN, SLEEVE BEARING
22 74-28 x 3/8 SHSS-HD (SET SCREW, SPACER)
23 SPACER, SLEEVE BEARING
24 SPRING, BEARING PRELDAD
5 WASHER, BEARING THRUST (IWPELLER END)
2% HILDER, BEARING THRUST (IMPELLER END)
27 EY, INNER MAGNET
28 EY, INPELLER
29 PIN, BEARING HOUSING
30 LOCKNUT, BEARING HOUSING
a 5/16-24 x 1 SHCS (BT, LOCKNUD
5 CONTAINMENT CAN PETALIC
6 | 1 [INER_HAGNET 2
INNER_MAGNET 3
o | 1 |DUTER MAGNET 2 GETALIC CARD
[OUTER MAGNET 3 (ETALIC CAN)
® 3/8-24 x 1-1/4 SHCS (BOLT, CONT. CAW)
r ADAPTER, TAPER LOCK
y BUSHING, TAPER LOCK (254/256TC)
42 | 2 [1/2-13 x 1 SHSS (SETSCREW, TAPER LOCK)
5 BRACKET
73 ADAPTER, MOTER (254/256TC)
47 | 4 [1/2-13 x 1-1/2 SHCS (BOLT, CASING COVER)
48 | 4 [1/2-13 x 1-1/4 SHCS (BILT, BRACKED
49 | 4 [1/2-13 x 1-1/2 FHCS (BOLT, ADAPTER)
50 [ 2 [EYEBOLT
5L | 2 [ NUT, EYEROLT
5 0-RING, CONTAINMENT CAN (2-165)
56 GASKET, CASING
57 FLIOT, BRACKET
58 | 2 [1/2-13 x 1-1/4 SHCS (BOLT, FOOT BRACKED
[NIPPLE 174 NPT (BEARING FLUSH ASSEMBLY)
e | | [STRAIGHT FITTING GEARING FLUSH ASSEMBLY)

TUBING 93/8" (BEARING FLUSH ASSEMBLY)

MALE ELBOV (BEARING FLUSH ASSEMBLY)




